
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 3rd Week, 2nd  Day Multiplication and Division 

Q.No.1. Choose the correct option. (6 x 0.5  = 3) 
i) The product of 621 and 23 is:  23  621

(a) 13 283 (b) 14 283 (c) 15 283 (d) 16 283

ii) What is the product of 2 455 and 80 ?  80  2 455

(a) 186 200 (b) 189 300 (c) 196 400 (d) 198 500

iii) The product of 1 092 and 81 is:  81  1 092

(a) 68 352 (b) 78 458 (c) 80 450 (d) 88 452

iv) Solution of 628 × 50 is:  628 × 50

(a) 31 400 (b) 32 400 (c) 33 700 (d) 36 450

v) The product of 543 and 49 is:  49  543

(a) 24 507 (b) 26 607 (c) 27 907 (d) 28 907

vi) What is the product of 219 and 101 ?  101  219

(a) 20 119 (b) 21 113 (c) 23 119 (d) 22 119

Q.No.2. Multiply the following numbers. (2 x 2 = 4) 
i) 2 456 ×  90

_________________________________________________________________

ii) 7 854 × 49

_________________________________________________________________

Q.No.3. Find the product. (1.5 x 2 = 3) 

i) 624 ×  23

_________________________________________________________________

ii) 45 201 × 561

_________________________________________________________________
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